Event selection Model

t—cxy t—ocxy t—bff'x] t—=bff'x)
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- 100 100 100 100
et > 2 (Er > 50GeV, |17| < 3.0) 13 60 11 32
Event cleaning 13 60 11 32
EMiss cleaning 11 44 9.1 21
Lepton and photon vetoes 11 44 9.1 17
Highest Et jet: Er > 100 GeV 7.4 25 6.0 8.7
Highest Et jet: || < 2.5 7.0 24 5.7 8.4
Next-to-highest Et jet: ET > 100 GeV 2.3 8.9 1.6 22
g™ = 0 (Er > 50GeV, 5| >3.00 23 8.7 1.6 2.2
Single isolated track veto 2.1 8.0 1.5 1.7
ADr. > 03 1.8 5.4 14 0.93
Hiss / Emiss < 1.25 1.7 45 12 0.68
Ht > 375GeV 0.90 2.1 0.55 0.37

xt > 0.55 0.45 0.40 0.26 0.08



